EIRVASAZIPN=-

110 R - 4 e
& T 202

% Fr: SEEER- AR
B H: EBHETFE

H #i: 0202

B R F 2

2

P A A E A



& 2 BRI AR 110 B EE A SRR

% B ERESER SIS

ZHFE : ERETE A ¢ 0202 » #FC 5 2
FIEH#3IF

M BEGNER - AR EREE - FRETEECRES  RERBEE MEEE  RFHS -

1. (40%) Figure.1 shows a filter implemented with an operational amplifier.. ¢1=c2=200nf, r1=r2=4000 Ohm, Load = 50K
ohm. () Show the Bode plot of the circuit. () Find Q factor of the filter. &) If Q is to be changed to 1.0, please redesign and
redraw the circuit. N
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Figure.1 of problem 1.
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2. (30%) In Figure 2, hfe of BC327 and BC337 are 100. hfe of TIP31 and TIP32 are 30. The resistors’ values are shown in the
figure. (a) Find the idle currents of r3 and r4. (b) Find the input impedance seen by signal source at the left. (c) Find the idle
power consumption of TIP31 and TIP 32.
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Figure.2 of problem 2.
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3.

(30%) In Figure 3, hfe of q1, 92 and g3 are all 100. The resistors’ values are shown in the figure. The power supply is +-28V.
(a) Find the current 0f 129 (350 Ohm). (b) Find Vee of 2 and g3. (c) Find the voltage at the collector of g3.

Figure.3 of problem 3.




